b. Abrown eyed man marries a blue eyed wdman. The first child is blue eyed. What is the man’s

genotype? ;
Lets v S A
Woman : == i
: b The man must be heterozygous
Man

= i dominant (Bb) to be able to produce
blue eyed children. He is a carrier.

7. Define and state the difference between complete dominance, co-dominance and incomplete
dominance? Use examples of each.
complete dominance  =If the dominant allele is present, it will be  AA or Aa=red flower .
expressed, even if heterozygous

8. Describe the difference between the male and female karyotype (types of chromosomes).
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: to chance, what fraction of their children will have dimples? |0/’ 0 5

fthe children should be homozygous smooth? 9
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